

اینکه ال‌های اینی بر اصل کنه

$$\begin{aligned} \text{الف) } \int x^r \sqrt{1-rx^r} \, dx &= -\frac{1}{r} \int \underbrace{-rx^r}_{u} \underbrace{\sqrt{1-rx^r} \, dx}_{du} = -\frac{1}{r} \int \sqrt{u} \, du = -\frac{1}{r} \int u^{\frac{1}{2}} \, du \\ &= -\frac{1}{r} \left(u^{\frac{\frac{1}{2}+1}{\frac{1}{2}+1}} \right) + C = -\frac{1}{r} \frac{1}{\frac{1}{2}+1} u^{\frac{1}{2}+1} + C \\ &= -\frac{1}{r} \frac{1}{\frac{3}{2}} u^{\frac{3}{2}} + C \\ &= -\frac{2}{3r} u^{\frac{3}{2}} + C \end{aligned}$$

$$\rightarrow -\frac{2}{3r} \sqrt{(1-rx^r)^3} + C$$

$$\begin{aligned} \text{ب) } \int \frac{x+1}{\sqrt[r]{x^r+rx+r}} \, dx &= \frac{1}{r} \int \underbrace{\frac{r(x+1) \, dx}{\sqrt[r]{x^r+rx+r}}}_{du} = \frac{1}{r} \int \frac{du}{\sqrt[r]{u}} = \frac{1}{r} \int u^{-\frac{1}{r}} \, du \\ &= \frac{1}{r} \left(u^{\frac{-\frac{1}{r}+1}{-\frac{1}{r}+1}} \right) + C = \frac{1}{r} \left(\frac{u^{\frac{1}{r}}}{\frac{1}{r}} \right) + C = \frac{r}{r} \sqrt[r]{u} + C = \frac{r}{r} \sqrt[r]{(x^r+rx+r)^r} + C \\ &= \sqrt[r]{(x^r+rx+r)^r} + C \end{aligned}$$

$$x^r + rx + r = u \rightarrow (rx + r) \, dx = du \Rightarrow r(x+1) \, dx = du$$

$$\begin{aligned} \Rightarrow \int \frac{\sin(\sqrt{x})}{\sqrt{x}} dx &= r \int \frac{\sin(\sqrt{x})}{r\sqrt{x}} du = r \int \sin u du = -r \cos u + C \\ &= -r \cos \sqrt{x} + C \end{aligned}$$

$$\sqrt{x} = u \rightarrow \frac{1}{r\sqrt{x}} dx = du$$

$$\begin{aligned} \Rightarrow \int \cos x \sqrt{\frac{r - \sin x}{u}} dx &= - \int \cos x \sqrt{\frac{r - \sin x}{u}} dx = - \int \sqrt{u} du = - \int u^{\frac{1}{2}} du \\ &= - \frac{u^{\frac{1}{2}+1}}{\frac{1}{2}+1} = - \frac{u^{\frac{3}{2}}}{\frac{3}{2}} = -\frac{2}{3} \sqrt{u}^{\frac{3}{2}} = -\frac{2}{3} \sqrt{(r - \sin x)}^{\frac{3}{2}} + C \quad du \\ r - \sin x = u &\rightarrow -\cos x dx = du \end{aligned}$$

$$\hat{=}, \int \frac{\sin x}{x + \cos x} dx = - \int \underbrace{\frac{-\sin x}{x + \cos x}}_{du} \underbrace{dx}_{du} = - \int \frac{du}{u} = -\ln|u| + C = -\ln|x + \cos x| + C$$

$$x + \cos x = u \rightarrow -\sin x dx = du$$

$$\hat{=}, \int \underbrace{\cos x}_{du} \underbrace{e^{\sin x}}_u dx = \int e^u du = e^u + C = e^{\sin x} + C$$

$$\sin x = u \rightarrow \cos x dx = du$$

$$\begin{aligned}
 \text{C)} \int \frac{r du}{e^n + e^{-n}} &= \int \frac{r du}{e^n + \frac{1}{e^n}} = \int \frac{r du}{\frac{e^{2n} + 1}{e^n}} = \int \frac{r e^n du}{(e^n)^2 + 1} = r \int \frac{\frac{e^n du}{e^n}}{\frac{(e^n)^2 + 1}{e^n}} \\
 &= r \int \frac{du}{u^2 + 1} = r \operatorname{Arctan} u + C = r \operatorname{Arctan}(e^n) + C
 \end{aligned}$$

$$e^n = u \rightarrow e^n du = du$$

$$\begin{aligned}
 \text{C)} \int \frac{r e^n}{\frac{1 + e^n}{u}} du &= r \int \frac{\overbrace{e^n du}^{du}}{\frac{1 + e^n}{u}} = r \int \frac{du}{u} = r \ln|u| + C = r \ln|1 + e^n| + C
 \end{aligned}$$

$$1 + e^n = u \rightarrow e^n du = du$$

$$\begin{aligned}
 \text{2) } \int (u+1)^r \overset{u}{x^r + r u - 1} du &= \frac{1}{r} \int \overset{u}{r(u+1)^r} \overset{u}{x^r + r u - 1} du = \frac{1}{r} \int r u^r du \\
 &= \frac{1}{r} \left(\frac{r u^r}{r} \right) + C = \frac{1}{r} (x^r + r u - 1) + C
 \end{aligned}$$

$$x^r + r u - 1 = u \rightarrow (r u + r) du = du \rightarrow r(u+1) du = du$$

$$\begin{aligned}
 \text{3) } \int \frac{\overset{u}{\sin(\ln u)}}{u} du &= \int \frac{\overset{u}{\sin(\ln u)}}{\overset{du}{u}} du \\
 &= \int \sin u du = -\cos u + C = -\cos(\ln u) + C
 \end{aligned}$$

$$\ln x = u \rightarrow \frac{1}{x} dx = du$$

$$\begin{aligned}
 3) \int \frac{x^r dx}{\sqrt{x^r+1}} &= \frac{1}{r} \int \underbrace{\frac{x^r dx}{\sqrt{x^r+1}}}_{du} = \frac{1}{r} \int \frac{du}{\sqrt{u}} = \frac{1}{r} \int u^{-\frac{1}{r}} du \\
 &= \frac{1}{r} \frac{u^{\frac{1}{r}}}{\frac{1}{r}} + C = \frac{r}{r} \sqrt[r]{u} + C \\
 &= \frac{r}{r} \sqrt[r]{x^r+1} + C
 \end{aligned}$$

$$x^r + 1 = u \rightarrow r x^{r-1} dx = du$$

$$\begin{aligned}
 1) \int \frac{dx}{\sqrt{a - kx^r}} &= \int \frac{dx}{\sqrt{r^r - (rx)^r}} = \frac{1}{r} \int \underbrace{\frac{r dx}{\sqrt{r^r - (rx)^r}}}_{du} = \frac{1}{r} \int \frac{du}{\sqrt{r^r - u^r}} \\
 &= \frac{1}{r} \int \frac{du}{\sqrt{r^r - u^r}}
 \end{aligned}$$

$$= \frac{1}{r} \left(\text{ArcSin} \frac{u}{r} \right) + C = \frac{1}{r} \left(\text{ArcSin} \frac{rx}{r} \right) + C = \frac{1}{r} \text{ArcSin} \frac{rx}{r} + C$$

$$rx = u \rightarrow r dx = du$$

$$i) \int \frac{dx}{\sqrt{rx - x^2}} = \int \frac{dx}{\sqrt{-(x^2 - rx)}} = \int \frac{dx}{\sqrt{-(x^2 - rx + \frac{r^2}{4}) + \frac{r^2}{4}}} = \int \frac{dx}{\sqrt{-(x^2 - rx + \frac{r^2}{4}) + \frac{r^2}{4}}}$$

$$= \int \frac{dx}{\sqrt{a - (x^2 - rx + \frac{r^2}{4})}} = \int \frac{dx}{\sqrt{a - (x - \frac{r}{2})^2}} = \int \frac{\overbrace{dx}^{du}}{\sqrt{r^2 - (\underbrace{x - \frac{r}{2}}_u)^2}}$$

$$= \int \frac{du}{\sqrt{r^2 - u^2}} = \text{ArcSin} \frac{u}{r} + C = \text{ArcSin} \left(\frac{x - \frac{r}{2}}{r} \right) + C$$

$$x - \frac{r}{2} = u \rightarrow dx = du$$

$$i) \int \frac{dx}{x(1+\ln x)} = \int \frac{du}{u} = \ln |u| + C = \ln |1 + \ln x| + C$$

$$1 + \ln x = u \rightarrow \frac{1}{x} dx = du$$

$$v) \int \frac{r_n + r}{x^r + r_n + r} dx = \int \frac{du}{u} = \ln |u| + C = \ln |x^r + r_n + r| + C$$

$$x^r + r_n + r = u \rightarrow (r_n + r) dx = du$$